> ?. iz 2H O <|0
T 2025 ( - )—EJ = I—7I—I.ﬁ|%! I—I.
I =)
NS CHat 3-8t XS 2A 20e
XS 2t 2025\ 3 32 ~ 20254 128 31, DHE 2 R(14:50~14:10)
N 28 2709 J|2)| U S 25D 012 S5 KA2AS JIZ & ACH
=i ET, 2(TALAZY, =)
=
2| = =5 NE We HI D
1 IHASl J2 XAl
2 200 Jj=9) OIALOIE THA
3 (T 2) )
3 BiY A
4 OIAE TjA
1 DE2 oAl A
o 2o oo, OIAOIS RIEXI THA
4 (T 2) )
3 POHE AZ YA
4 SLEFFE FIE|X| QIAE DjA
1 cal29 JI=THAl
2 OIAOIE SalZ
=0 =
3 ﬁ;(lg'aljg')d' 7m, 10m QIAIOIE ®F S22
4 10m QIAOIS S2l2 CHA
5 OIAOIE, OFRAIOIE Sel2
i EeHmol I =THAl
=0 =
612 ﬁ;(lE—'aHjl—L)‘m OIAOIE EH
3 49 9 ol
1 2o oo 2= = 02l Sl
Eeym i}
o (SH2) s Eam
7
3 20 o= 200 J|= XAl
B -(al) -
4 201X |22l




snyschool
aPATIDIYE S

X = H =
8| = =X NE e HI 2
1 z2+2
) 200 529 26l 2 =Mooz 2
8 (2!)
3 - 2011% EHY % 2
4 30X Y A = 2
1 Ey & 2
iy A S 2
2 =309 J|=) i
J (21)
3 X HEY = = 2
4 OIRAOIE 2 S22 &
1 sliol J= XAl
XIS Fllcl
0 2 =309 )27 = ols
(512) .
3 I Y
4 o 5 gl
1 21T ol J|= XAl
stgr Ol AR pmEl
2 =39 J|=]| = |
I (21Zg)
3 oFgt Ol AEl 2|IEl
4 SIAIOIE el=d
1 OFRAOIE 21T E
2s 2lzg
> 2 =0 J|2)| =
‘ (21Zg)
3 el 2l =g
4 CIZE (B8




